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1. ��-�/ %�$��&�$�%&��� $���'�� �$��$���/ 
''����� ��%&�����/ 

��.04 &$��%��$&��/ %�%&��� $�%%�� 

 

1.1. �5?4EFL ?D<<5=5=<O D45>G5= ?D>7D4<<O 

 $45>G4O ?D>7D4<<4 GG55=>= 4<EF<??<=O O6?O5FEO >5O74F5?L=>= 
G4EFLN >5D47>64F5?L=>= ?D>7D4<<O 6 E>>F65FEF6<< E $��% ?> 
E?5F<4?L=>EF< %�� 23.02.01 �D74=<74F<O ?5D56>7>> < G?D46?5=<5 =4 
FD4=E?>DF5 (?> 6<44<). 

1.2. �5EF> GG55=>= 4<EF<??<=O 6 EFDG>FGD5 >5D47>64F5?L=>= 
?D>7D4<<O  

 'G55=4O 4<EF<??<=4 «&D4=E?>DF=4O E<EF5<4 $>EE<<» O6?O5FEO 
>5O74F5?L=>= G4EFLN >5M5?D>D5EE<>=4?L=>7> F<>?4 ?D<<5D=>= >E=>6=>= 
>5D47>64F5?L=>= ?D>7D4<<O 6 E>>F65FEF6<< E $��% %�� ?> E?5F<4?L=>EF< 
23.02.01 �D74=<74F<O ?5D56>7>> < G?D46?5=<5 =4 FD4=E?>DF5 (?> 6<44<). 

�E>5>5 7=4G5=<5 4<EF<??<=4 <<55F ?D< D>D<<D>64=<< < D476<F<< �� 
01 �� 02, �� 04, �� 07. 

1.3. &5?< < ??4=<DG5<O5 D57G?LF4FO >E6>5=<O GG55=>= 4<EF<??<=O: 

'G55=4O 4<EF<??<=4 «&D4=E?>DF=4O E<EF5<4 $>EE<<» >55E?5G<645F 
D>D<<D>64=<5 M?5<5=F>6 ?D>D5EE<>=4?L=OE < >5M<E >><?5F5=F<= ?> 6<44< 
45OF5?L=>EF< $��% %��, 4 F4>65 ?<G=>EF=OE D57G?LF4F>6. 

� D57G?LF4F5 >E6>5=<O 4<EF<??<=O >5GG4NM<=EO >E64<645F M?5<5=FO 
>5M<E >><?5F5=F<= (��): 

�� 01. �O5<D4FL E?>E>5O D5L5=<O 7444G ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 
?D<<5=<F5?L=> > D47?<G=O< >>=F5>EF4<; 

�� 02. �E?>?L7>64FL E>6D5<5==O5 ED54EF64 ?><E>4, 4=4?<74 < <=F5D?D5F4F<< 
<=D>D<4F<< < <=D>D<4F<>==O5 F5E=>?>7<< 4?O 6O?>?=5=<O 7444G 
?D>D5EE<>=4?L=>= 45OF5?L=>EF<; 

�� 04. -DD5>F<6=> 674<<>45=EF6>64FL < D45>F4FL 6 >>??5>F<65 < >><4=45; 

�� 07. %>45=EF6>64FL E>ED4=5=<N >>DG64NM5= ED54O, D5EGDE>E55D565=<N, 
?D<<5=OFL 7=4=<O >5 <7<5=5=<< >?<<4F4, ?D<=F<?O 55D56?<6>7> 
?D><76>4EF64, MDD5>F<6=> 45=EF6>64FL 6 GD576OG4==OE E<FG4F<OE. 
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�5D5G5=L ?D>D5EE<>=4?L=OE >><?5F5=F<= (��), M?5<5=FO >>F>DOE 
D>D<<DGNFEO 6 D4<>4E 4<EF<??<=O:  

�� 1.1. �?4=<D>64FL, 6O?>?=OFL < >>=FD>?<D>64FL ?5D56>7>G=O= ?D>F5EE =4 
FD4=E?>DF5, 6 F>< G<E?5 E ?D<<5=5=<5< E>6D5<5==OE <=D>D<4F<>==OE 
F5E=>?>7<= G?D46?5=<O ?5D56>7>4<<. 

 

1.2. &5?L < ??4=<DG5<O5 D57G?LF4FO >E6>5=<O 4<EF<??<=O: 

� D4<>4E ?D>7D4<<O GG55=>= 4<EF<??<=O >5GG4NM<<<EO >E64<64NFEO 
G<5=<O < 7=4=<O 

�>4  

��, �� 

'<5=<O  

 

�=4=<O 

 

�� 01, 02, 
04, 07  

�� 1.1 

- 4464FL >D4F>GN M>>=><<>>-

75>7D4D<G5E>GN 

E4D4>F5D<EF<>G F5E=<G5E>><G 

>E=4M5=<N < ED5D5 

?D<<5=5=<O D47?<G=OE 6<4>6 

FD4=E?>DF4. 

- EFDG>FGDG FD4=E?>DF=>= E<EF5<O 

$>EE<<; 

- >E=>6=O5 =4?D46?5=<O 7DG7>?>F>>>6; 

 - >E=>6=O5 =4?D46?5=<O 

?4EE46<D>?>F>>>6. 
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2. %&$'�&'$� � %���$����� ''����� ��%&�����/ 

2.1. �5N5< GG55=>= 4<EF<??<=O < 6<4O GG55=>= D45>FO 

�<4 GG55=>= D45>FO �5N5< 6 G4E4E 

�5N5< >5D47>64F5?L=>= ?D>7D4<<O GG55=>= 
4<EF<??<=O 

76 

6 F.G. 6 D>D<5 ?D4>F<G5E>>= ?>47>F>6>< 34 

6 F. G.: 

F5>D5F<G5E>>5 >5GG5=<5 38 

?D4>F<G5E><5 74=OF<O  38 

%4<>EF>OF5?L=4O D45>F4  - 

�D><56GF>G=4O 4FF5EF4F<O �<D. 74G5F 

 

 

 

 

 



6 
 

2.2. &5<4F<G5E><= ??4= < E>45D64=<5 GG55=>= 4<EF<??<=O  

�4<<5=>64=<5 
D4745?>6 < F5< 

%>45D64=<5 GG55=>7> <4F5D<4?4 < D>D<O >D74=<74F<< 45OF5?L=>EF< 
>5GG4NM<EEO 

�5N5<, 4>44. G 6 F>< G<E?5 6 
D>D<5 ?D4>F<G5E>>= 
?>47>F>6><, 4>44. G 

�>4O 
>><?5F5=F<=, 

D>D<<D>64=<N 
>>F>DOE 

E?>E>5EF6G5F 
M?5<5=F 

?D>7D4<<O  

1 2 3 4 

$4745?1. �5M4O E4D4>F5D<EF<>4 FD4=E?>DF4   

&5<4  1.1.  %FDG>FGD=>-
DG=>F<>=4?L=4O  
E4D4>F5D<EF<>4 
FD4=E?>DF4 

%>45D64=<5 GG55=>7> <4F5D<4?4  �� 01, 02, 04, 
07  

�� 1.1 

&D4=E?>DF >5M57> ?>?L7>64=<O, FD4=E?>DF =5>5M57> ?>?L7>64=<O. �47<EFD4?L=O= < 
=5<47<EFD4?L=O=  FD4=E?>DF.  �?4EE<D<>4F<O  EE5<  F5DD<F>D<4?L=>=  >D74=<74F<< 
FD4=E?>DF4. 

2 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<=  

�D4>F<G5E>4O D45>F4 71. %>EF46?5=<5 EFDG>FGD=>= EE5<O FD4=E?>DF=>= E<EF5<O 2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4  1.2.  
&D4=E?>DF=4O  
>55E?5G5==>EFL  <  
4>EFG?=>EFL 

%>45D64=<5 GG55=>7> <4F5D<4?4    �� 01, 02, 04, 
07  

�� 1.1 

�>>474F5?<  FD4=E?>DF=>=  >55E?5G5==>EF<  <  4>EFG?=>EF<.  �>=OF<O  ?D>FO65==>EF< 
E5F<, ?D>?GE>=>= < ?D>6>7=>= E?>E>5=>EF<. 

2 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<=  

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4  1.3.  %<EF5<O  
G?D46?5=<O  <  
7>EG44DEF65==>7>  
D57G?<D>64=<O  
FD4=E?>DF=>= E<EF5<>= 

%>45D64=<5 GG55=>7> <4F5D<4?4    �� 01, 02, 04, 
07  $>D<4 < >5?4EF< 674<<>45=EF6<O < >>=>GD5=F<< D47?<G=OE 6<4>6 FD4=E?>DF4 2 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<=  
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%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  �� 1.1 

$4745? 2.  &5E=<>>-M>E??G4F4F<>==4O E4D4>F5D<EF<>4 <47<EFD4?L=OE 6<4>6 FD4=E?>DF4   

&5<4  2.1.  
�5?57=>4>D>6=O= 
FD4=E?>DF 

%>45D64=<5 GG55=>7> <4F5D<4?4    �� 01, 02, 04, 
07  

�� 1.1 

�?4EE<D<>4F<O 65?57=>4>D>6=>7> FD4=E?>DF4. �D5<<GM5EF64, =54>EF4F><, >5?4EFL 
?D<<5=5=<O. 

2 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 
�D4>F<G5E>4O D45>F4 7 2. �?D545?5=<5 >E=>6=OE ?>>474F5?5= D45>FO 
65?57=>4>D>6=>7> FD4=E?>DF4 

2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 2.2. 
�6F><>5<?L=O= 
FD4=E?>DF 

%>45D64=<5 GG55=>7> <4F5D<4?4    �� 01, 02, 04, 
07  

�� 1.1 

�?4EE<D<>4F<O  ?>46<6=>7>  E>EF464,  E<EF5<4  >5>7=4G5=<O  FD4=E?>DF=OE  ED54EF6.  
�6F><>5<?L=O5  4>D>7<.  �D>5?5<O  D476<F<O,  ?>>474F5?<  D45>FO.  �D5<<GM5EF64  < 
=54>EF4F>< 46F><>5<?L=>7> FD4=E?>DF4. 

4 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 
�D4>F<G5E>4O D45>F4 7 3. �?D545?5=<5 >E=>6=OE ?>>474F5?5= <E?>?L7>64=<O ?4D>4 
?>46<6=>7> E>EF464. 
�D4>F<G5E>4O D45>F4 7 4. &5E=<G5E>>5 >E=4M5=<5 46F><>5<?L=>7> FD4=E?>DF4 
�D4>F<G5E>4O D45>F4 7 5. $4EG5F ?>>474F5?5= D45>FO 46F><>5<?L=>7> FD4=E?>DF4 

8 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4  2.3.  �>74GL=O=  
FD4=E?>DF 
 
 

%>45D64=<5 GG55=>7> <4F5D<4?4    �� 01, 02, 04, 
07  

�� 1.1 

�E=>6=O5  F5E=<>>-M>E??G4F4F<>==O5  >E>55==>EF<  <  4>EF><=EF64  6>74GL=>7> 
FD4=E?>DF4. �F=>E<F5?L=O5 =54>EF4F><. &5E=>?>7<O D45>FO.  �D>5?5<O  <  F5=45=F<<  
D476<F<O.  �?4EE<D<>4F<O  ?>46<6=>7>  E>EF464  6>74GL=>7> FD4=E?>DF4. 

2 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 
�D4>F<G5E>4O D45>F4 76. �7GG5=<5 F5E=<>>-M>>=><<G5E><E ?>>474F5?5= 6>74GL=>7> 
FD4=E?>DF4 

2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4  2.4.  $5G=>=  %>45D64=<5 GG55=>7> <4F5D<4?4    �� 01, 02, 04, 
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FD4=E?>DF �?4EE<D<>4F<O ?>46<6=>7> E>EF464 D5G=>7> FD4=E?>DF4. $5G=O5 ?>DFO. &5E=>?>7<O 
D45>FO D5G=>7> FD4=E?>DF4. �D5<<GM5EF64 < =54>EF4F><. 

2 07  

�� 1.1 � F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 
�D4>F<G5E>4O D45>F4 7 7. &5E=<G5E>>5 >E=4M5=<5 <>DE>>7> < D5G=>7> FD4=E?>DF4 

2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4  2.5.  
�47<EFD4?L=O=  
FDG5>?D>6>4=O=  
FD4=E?>DF 

%>45D64=<5 GG55=>7> <4F5D<4?4    �� 01, 02, 04, 
07  

�� 1.1 

�E=>6=O5 F5E=<>>-M>E??G4F4F<>==O5 >E>55==>EF< < 4>EF><=EF64 FDG5>?D>6>4=>7> 
FD4=E?>DF4. �F=>E<F5?L=O5 =54>EF4F><. &5E=>?>7<O D45>FO. �D>5?5<O < F5=45=F<< 
D476<F<O. �?4EE<D<>4F<O FDG5>?D>6>4=>7> FD4=E?>DF4. 

4 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 
�D4>F<G5E>4O D45>F4 7 8. &5E=<G5E>>5 >E=4M5=<5 FDG5>?D>6>4=>7> FD4=E?>DF4 

2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

$4745? 3. �D><OL?5==O= FD4=E?>DF   

&5<4  3.1.  �<4O  
?D><OL?5==>7> 
FD4=E?>DF4 

%>45D64=<5 GG55=>7> <4F5D<4?4    �� 01, 02, 04, 
07  

�� 1.1 

%4D4>F5D<EF<>4 ?D><OL?5==>7> FD4=E?>DF4. %?5F<4?<7<D>64==O5 < =5FD44<F<>==O5 
6<4O FD4=E?>DF4. %D5DO D4F<>=4?L=>7> <E?>?L7>64=<O D47?<G=OE 6<4>6 
?D><OL?5==>7> FD4=E?>DF4. 

4 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 
�D4>F<G5E>4O D45>F7 9. �?D545?5=<5 >>?<G5EF65==OE < >4G5EF65==OE ?>>474F5?5= 
D45>FO FD4=E?>DF4 

4 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

$4745? 4 �>D>4E>>= < ?D<7>D>4=O= FD4=E?>DF   

&5<4  4.1.  �>D>4E>>=  <  
?D<7>D>4=O= FD4=E?>DF 

%>45D64=<5 GG55=>7> <4F5D<4?4  �� 01, 02, 04, 
07  

�� 1.1 

�5M4O  E4D4>F5D<EF<>4  7>D>4E>>7>  <  ?D<7>D>4=>7>  FD4=E?>DF4.  �?4EE<D<>4F<O  
?4EE46<DE><E ?5D56>7>> 6 746<E<<>EF< >F 6<44 FD4=E?>DF4. �>>474F5?< >4G5EF64 
?4EE46<DE><E ?5D56>7>>. �?>F=>EFL < F5DD<F>D<4?L=>5 D4E?D545?5=<5 =4E5?5=<O. 

4 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 
�D4>F<G5E>4O D45>F4 7 10. �?D545?5=<5 >>?<G5EF65==OE < >4G5EF65==OE ?>>474F5?5= 
D45>FO 46F>5GE=>7> ?4D>4 
�D4>F<G5E>4O D45>F4 7 11. �D>65EF< 4<47=>EF<>G ?D>5?5< 7>D>4E>>7> FD4=E?>DF4 E 

4 
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?>E?54GNM<< <>=<F>D<=7>< ?GF5= <E D5L5=<= 

 %4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

$4745? 6. �74<<>45=EF6<5 D47?<G=OE 6<4>6 FD4=E?>DF4   

&5<4 6.1. �D<=F<? 
6O5>D4 6<4>6 
FD4=E?>DF4 

%>45D64=<5 GG55=>7> <4F5D<4?4  �� 01, 02, 04, 
07  

�� 1.1 

�E=>6=O5  >D<F5D<<  6O5>D4  6<44  FD4=E?>DF4.  �>=OF<5  ?>7<EF<><.  �5F>4O  6O5>D4 
FD4=E?>DF=OE ED54EF6 

4 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 
�D4>F<G5E>4O D45>F4 7 12. �>>474F5?<   >?F<<4?L=>EF<  6O5>D4  FD4=E?>DF=OE 
ED54EF6. 
�D4>F<G5E>4O D45>F4 7 13. �=4?<7 ED5D ?D<<5=5=<O D47?<G=OE 6<4>6 FD4=E?>DF4 
�D4>F<G5E>4O D45>F4 7 14. $47D45>F>4 FD4=E?>DF=>-F5E=>?>7<G5E><E EE5< 4>EF46>< 
7DG7>6. 

8 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4  6.2.  
�G?LF<<>44?L=O5 
FD4=E?>DF=O5 G7?O 

%>45D64=<5 GG55=>7> <4F5D<4?4  �� 01, 02, 04, 
07  

�� 1.1 

�>=OF<5 <G?LF<<>44?L=>7> FD4=E?>DF=>7>  G7?4. �D<=F<?<4?L=4O  EE5<4 
<G?LF<<>44?L=>= FD4=E?>DF=>-F5E=>?>7<G5E>>= E<EF5<O. 

2 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 
�D4>F<G5E>4O D45>F4 7 15. �<4O <=F5D<>44?L=OE F5E=>?>7<= 

4 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

$4745? 7. �E=>6=O5 =4?D46?5=<O >><??5>E=>7> D476<F<O FD4=E?>DF=>= E<EF5<O   

&5<4  7.1.  �=4?<7  
E>6D5<5==>7> E>EF>O=<O 
< ?D>5?5<O  D476<F<O  
FD4=E?>DF4 $$ 

%>45D64=<5 GG55=>7> <4F5D<4?4  �� 01, 02, 04, 
07  

�� 1.1 

&D4=E?>DF=4O EFD4F57<O D476<F<O >5?4EF< =4 5?<64=L55 6D5<O. &5?< < ?D<>D<F5FO 
D476<F<O FD4=E?>DF4 =4 4>?7>ED>G=GN ?5DE?5>F<6G. 

2 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 
 

 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4  7.2.  �>=F5?F<O  %>45D64=<5 GG55=>7> <4F5D<4?4  �� 01, 02, 04, 
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D476<F<O  FD4=E?>DF=>=  
E<EF5<O 6 ?5DE?5>F<65 

�5E4=<7<O D54?<74F<< FD4=E?>DF=>= EFD4F57<<. 2 07  

�� 1.1 
� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 
 

 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

�D><56GF>G=4O 4FF5EF4F<O   

�E57>: 76  
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3. '%����/ $������&�� �$��$���/ ��%&�����/ 

3.1. &D55>64=<O > <<=<<4?L=><G <4F5D<4?L=>-F5E=<G5E>><G >55E?5G5=<N 

 

�45<=5F FD4=E?>DF=>= E<EF5<O $>EE<<. �>E44>G=O5 <5EF4 ?> >>?<G5EF6G 

>5GG4NM<EEO, >?4EE=4O 4>E>4, D45>G55 <5EF> ?D5?>4464F5?O. �><?LNF5D 6 

E5>D5 GeleronE 1500.1024 Mb 160 Gb/DVD-RV|, ?D>5>F>D ACER %12�� DLP, 

>><??5>F ??4>4F>6, >><??5>FO  E?D46>G=OE =>D<4F<6=OE 4>>G<5=F>6, 

=>D<4F<6=OE 4>F>6, D4744F>G=O= <4F5D<4? > 6O?>?=5=<N ?D4>F<G5E><E D45>F. 

E<EF5<4 �4D4=F (4>7>6>D -�%-17-010 >F 09 O=64DO 2017 7>44, 4>7>6>D -�%-18-

034 >F 30 O=64DO 2018 7>44, 4>7>6>D -�%-19-078 >F 09 O=64DO 2019 7>44, 

4>7>6>D 72 >F 09.01.2020 7>44), >><??5>F GG55=>-=47?O4=OE ?>E>5<=.  Win7Pro 

64 SP1 (OEM ?<F5=7<O, 4>7>6>D ?>65DF6>64=<O 7140501 >F 20 O=64DO 2014). 

Microsoft Office 2016 (%>7?4L5=<5 Microsoft Products and Services Agreement 

74100088059 >F 09.08.2019 7.) 

 

3.2. �=D>D<4F<>==>5 >55E?5G5=<5 D54?<74F<< ?D>7D4<<O 

�?O D54?<74F<< ?D>7D4<<O 5<5?<>F5G=O= D>=4 >5D47>64F5?L=>= 
>D74=<74F<< 4>?65= <<5FL ?5G4F=O5 </<?< M?5>FD>==O5 >5D47>64F5?L=O5 < 
<=D>D<4F<>==O5 D5EGDEO 4?O <E?>?L7>64=<O 6 >5D47>64F5?L=>< ?D>F5EE5. �D< 
D>D<<D>64=<< 5<5?<>F5G=>7> D>=44 >5D47>64F5?L=>= >D74=<74F<5= 
6O5<D45FEO =5 <5=55 >4=>7> <744=<O <7 ?5D5G<E?5==OE =<65 ?5G4F=OE < (<?<) 
M?5>FD>==OE <744=<= 6 >4G5EF65 >E=>6=>7>, ?D< MF>< E?<E>> <>65F 5OFL 
4>?>?=5= 4DG7<<< <744=<O<<. 

 'G55=>-<5F>4<G5E>>5 < <=D>D<4F<>==>5 >55E?5G5=<5  

4) >E=>6=4O ?<F5D4FGD4: 

7 
?/? 

�EF>G=<> 

1 �>D56, �. -.  &5>D<O FD4=E?>DF=OE ?D>F5EE>6 < E<EF5< : GG55=<> 4?O ED54=57> 
?D>D5EE<>=4?L=>7> >5D47>64=<O / �. -. �>D56. 4 3-5 <74., <E?D. < 4>?. 4 �>E>64 : 
�744F5?LEF6> .D4=F, 2024. 4 193 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-
534-13578-7. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 URL: 
https://urait.ru/bcode/538009 (44F4 >5D4M5=<O: 27.04.2024). 

2 �56><=, �. �. �D74=<74F<O <=F5D<>44?L=OE ?5D56>7>> : GG55=>5 ?>E>5<5 4?O E?> / �. �. 
�56><=. 4 3-5 <74, EF5D. 4 %4=>F-�5F5D5GD7 : �4=L, 2024. 4 128 E. 4 ISBN 978-5-507-
47476-9. 4 &5>EF : M?5>FD>==O= // �4=L : M?5>FD>==>-5<5?<>F5G=4O E<EF5<4. 4 URL: 
https://e.lanbook.com/book/379982 (44F4 >5D4M5=<O: 27.04.2024) 
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3 
 

&D4=E?>DF=4O <=DD4EFDG>FGD4 : GG55=<> < ?D4>F<>G< 4?O ED54=57> ?D>D5EE<>=4?L=>7> 
>5D47>64=<O / �. �. %>?>4><=, �. -. �>D56, -. �. �>=44D564, �. �. '5D=OE. 4 3-5 <74., 
?5D5D45. < 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2024. 4 443 E. 4 (�D>D5EE<>=4?L=>5 
>5D47>64=<5). 4 ISBN 978-5-534-17861-6. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O 
??4FD>D<4 .D4=F [E4=F]. 4 URL: https://urait.ru/bcode/533860 (44F4 >5D4M5=<O: 27.04.2024). 

5) 4>?>?=<F5?L=4O ?<F5D4FGD4 

7 
?/? 

�EF>G=<> 

1 
 

�5DGL, .. �.  &D4=E?>DF=4O ?>7<EF<>4 : GG55=<> 4?O ED54=57> ?D>D5EE<>=4?L=>7> 
>5D47>64=<O / .. �. �5DGL, %. �. %4D><E>6. 4 �>E>64 : �744F5?LEF6> .D4=F, 2024. 4 351 
E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-11697-7. 4 &5>EF : M?5>FD>==O= // 
�5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 URL: https://urait.ru/bcode/542861 (44F4 
>5D4M5=<O: 27.04.2024). 
 

6)  ?5D<>4<G5E><5 <744=<O: 

7 
?/? 

�EF>G=<> 

1 ��&������,. ��$���. ��$$�%&$'�&'$�: =4GG=O= 6GD=4? . 3 �>E>64 :  �>E>>6E><= 
46F><>5<?L=>-4>D>6=O= 7>EG44DEF65==O= F5E=<G5E><= G=<65DE<F5F (����) 2014. �OE>4<F 4 
D474 6 7>4. ISBN  M?5>FD>==>= 65DE<<: 2409-7217. 3 &5>EF : M?5>FD>==O=  // -�% elibrary [E4=F]. 
4 URL : https://www.elibrary.ru/contents.asp?id=45688588 (44F4 >5D4M5=<O:14.04.2024). 

2 ��$ &$��%��$&� : =4GG=O= 6GD=4? . 3 �>E>64 :  D545D4?L=>5 7>EG44DEF65==>5 46F>=><=>5 
>5D47>64F5?L=>5 GGD5645=<5 6OEL57> >5D47>64=<O "$>EE<=E><= G=<65DE<F5F FD4=E?>DF4"2003. 
�OE>4<F 6 D47 6 7>4. ISBN  ?5G4F=>= 65DE<< 1992 3 3252. 3 &5>EF : M?5>FD>==O=  // -�% elibrary 
[E4=F]. 4 URL : https://www.elibrary.ru/contents.asp?id=46501968(44F4 >5D4M5=<O:14.04.2024). 

7) <=D>D<4F<>==O5 6) <=D>D<4F<>==O5 M?5>FD>==>->5D47>64F5?L=O5 D5EGDEO: 

7 
?/? 

�EF>G=<> 

     1 -?5>FD>==4O 5<5?<>F5G=4O E<EF5<4 «�<5?<>&5E. �744F5?LEF6> ��'»    
https://mgri-rggru.bibliotech.ru 

2 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 «�744F5?LEF6> �4=L»/ >>??. �=65=5D=>-F5E=<G5E><5 =4G>< 
(&N<�')  www.e.lanbook.com 

3 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 elibrary» / �D46>>5?444F5?L: �5M5EF6> E >7D4=<G5==>= 
>F65FEF65==>EFLN «$'�-�» (RU) 
 https://elibrary.ru 

4 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 «-�% .$��&» / www.urait.ru 
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4. ���&$��, � �&���� $��'�,&�&�� �%�����/ ��%&�����/ 

�>=FD>?L < >F5=>4 D57G?LF4F>6 >E6>5=<O 4<EF<??<=O >EGM5EF6?O5FEO 
?D5?>4464F5?5< 6 ?D>F5EE5 ?D>6545=<O ?D4>F<G5E><E 74=OF<= < ?45>D4F>D=OE 
D45>F, F5EF<D>64=<O, 4 F4>65 6O?>?=5=<O >5GG4NM<<<EO <=4<6<4G4?L=OE 
7444=<=, ?D>5>F>6, <EE?54>64=<=. 

 

$57G?LF4FO >5GG5=<O 

(>E6>5==O5 G<5=<O, GE6>5==O5 

7=4=<O) 

$>D<O < <5F>4O >>=FD>?O < >F5=>< 

D57G?LF4F>6 >5GG5=<O  

        '��&, 

 �464FL >D4F>GN M>>=><<>>-
75>7D4D<G5E>GN E4D4>F5D<EF<>G 
F5E=<G5E>><G >E=4M5=<N < ED5D5 
?D<<5=5=<O D47?<G=OE 6<4>6 
FD4=E?>DF4 

�D>65D>4 >>=E?5>F>6; DD>=F4?L=O= >?D>E; 
F5EF<D>64=<5; D5L5=<5 7444G, 
>D>D<?5=<5 E>?D>6>4<F5?L=OE 4>>G<5=F>6; 
>F5=>4 D57G?LF4F>6 ?D4>F<G5E><E 74=OF<=. 
 

        ���&, 

%FDG>FGDG FD4=E?>DF=>= E<EF5<O 
$>EE<<. �E=>6=O5 =4?D46?5=<O 
7DG7>?>F>>>6. �E=>6=O5 
=4?D46?5=<O  ?4EE46<D>?>F>>>6 

�D>65D>4 >>=E?5>F>6; DD>=F4?L=O= >?D>E; 
F5EF<D>64=<5. �OEFG??5=<O E 4>>?444<< < 
?D575=F4F<O<<. 

 


